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Please read each of the following instructions carefully before attempting questions.
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1.

There are EIGHT questions printed in both. English and Hindi.
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Candidate has to attempt FIVE questions in all either in English or Hindi.
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Question No. 1 is compulsory. Out of remaining seven questions, FOUR are to be
attempted.
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All questions carry equal marks. The number of marks carried by a question/ part are
indicated against it.
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Write answers in legible handwriting.
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Each part of the question must be answered in sequence and in the same continuation.
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Attempts of the questions shall be counted in sequential order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in answer book must be clearly struck off.
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Re-evaluation/ re-checking of answer book of the candidate is not allowed.
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1. Answer the following in about 150-200 words each: (5 x4 =20 Marks)

(@ “The Minnowbrook III perspective indicates the shifting trend of Public

Administration in a globalizing World”. Discuss.
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(b) “On a more sophisticated plane public choice is concerned with “Pareto

optimality”, or at least with “Pareto improvements”.” Comment.”
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(c) “The bottom line for governance is outcomes rather than the outputs of

government.” Explain.
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(d) “No significant change can be made in the budgetary process without

affecting the political process.” (Wildavsky). Analyze.
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2. What are the distinguishing features of the scientific management theory as 10,10
propounded by Fredrick Taylor? How far Scientific Management Theory is
considered to be scientific? What are the areas where there is democratic and

participatory emphasis?
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3. Chester Barnard in “The Functions of the Executive” injected ‘the social and 10,10
psychological’ in the study of the organization. Explain in this context how the

executive is expected to play a much greater role than a manager.
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4. . . .. . . 10,10
‘An ounce of implementation of policy is more important than the tones of written
policies’. Examine. Considering this statement, discuss various factors that obstruct
the implementation of public policy.
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5. Examine the basic principles underlying citizen’s charter 7,7,6
With special reference to
(a) It’s conceptual philosophy
(b) Promoting transparency and public accountability
(c) Ensuring public service delivery
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6. A sound budgeting system is one which engenders trust among citizens that the 10, 10

government is listening to their concerns. Budget thus represents the aspirations of
the citizens and becomes an instrument of socio-economic change. Elaborate this

in the context of the budgetary administration.
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7. “The new public service model (NPS) approaches governance on the premises of 10, 10
active and involved citizenship, wherein the role of public officials is to facilitate
opportunities for citizens' engagement in governance.” Based on this statement

discuss the main features of the NPS and its role in fulfilling public needs and

aspirations.
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8. What do you understand by Ecological Approach? What are the main featuresofa 7,7,6
Prismatic Society? Does the Developing Nations represent the characteristics of a

prismatic society? Explain with illustrations.
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